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HRT -1/ PART -1

[3]

[A]

919 fae Td {31eemes / CHILD DEVELOPMENT & PEDAGOGY
[Adsr : [=itee gedl % G737 % [ qa] S [A%e g

Direction : Answer the following questions by selecting the most appropriate option.

1.

Frifed & | #F-d1 daeq guis
g S TN G e @

(1) sfaefe ™

(2) Fritemees s

(3) Hfcr fambra

(4) TRt orgian

o R KIS (R B CED - ST e el |
IR ST F AY-fER, REEE &
wraHISR famrd @ iR § | TR
R % TAIA § 7

(1) T9am s9M Sfdgarq

(2) W a9 9 Ud Hes

(3) UBd IIM ST AY

(4) YESF SH 4fFER 99 (Role Confusion)
R 1 T8 HEgd B WA A
g e B @ s & S wedl @

(1) SR e

(2) FAH 390

(3) TARRRET F4rer

4) gt FarEm

HAIYYH  FIER A9 (Applied

Behaviour Analysis or ABA) f=ifea &
4§ g sl W ooaia & 7

(1) e Srgdes
(2) fopam Jga ergeed

(3) dAmdfte s
(4) OIS ARy

Level-3/3303

1.

Which of the following concept 1is
derived from famous 'Bobo Doll'
experiment ?

(1) Insightful learning

(2) Observational learning

(3) Moral development

(4) Conditioned response

The age range of Genital Stage of
Freud's
development is similar to which of the
following stage of Erikson's theory of
Psycho-social development ?

theory of  Psycho-sexual

(1) Trust vs mistrust
(2) Autonomy vs shame & doubt
(3) Initiative vs guilt

(4) Identity vs role confusion

The feeling of adolescents, "Everyone is
looking at me", can be termed as :

(1) Personal fable
(2) Imaginary audience
(3) Anorexia Nervosa

(4) Bulimia Nervosa

Applied Behaviour Analysis is based on
principles of :

(1) Classical conditioning
(2) Operant conditioning
(3) Insightful learning

(4) Observational learning

P.T.O.



[A]

gar AR H gE A 6 d

gﬁ\cﬁaﬁaﬁﬁﬁﬁrﬂ%’,aﬁww

(1) AR Heah

(2) FEEH I

(3) oM W

(4) SArcAIEHTEA

Feones oMM & 9 ddl & g8

HH FE 7

(1) S@gM — SRR — 9RO &
— &

(2) I — RO HAT — FASHEA

(3) I — YTEMART —> GROT B
(4) TFIN — RO HET —  ARWRET

frifeg & @ F9-a1 w9 e &

e o & fosid & d9e9 | el

& 27

(1) 98 39 HgaT W oeid ® %
foepra U STEAd iR 2|

(2) TE 39 HAT W oNeag & % 9=
g Td TR 8 dEd
g

(3) T& 3 A W NgiRg 2 %
foepr sk Tad gl 2

(4) 98 T HEAT W oeiRd ® %
REIRIECEA Mo Fae ki | M i <

Stta &9 (&) @ HeheqeT, T W ©
(1) =T AT &l

(2) fopam Jd STgse &

(3) Sidefte ST &

(4) e &= f=ia &

Level-3/3303

[4]

"Young teen-agers often believe that
they are completely unlike any one
else.' This phenomenon is known as :

(1) Personal fable

(2) Imaginary Audience

(3) Self realization

(4) Self disclosure

What is the correct sequence of four

elements of observational learning ?

(1) Attention —  Motivation —
Retention — Reproduction

(2) Attention —  Retention —
Reproduction — Motivation

(3) Attention — Reproduction —
Retention — Motivation

(4) Attention —  Retention —
Motivation — Reproduction

Which of the following statement is not
true about the theory of cognitive
development given by Jean Piaget ?

(1) It believes that development is a
discontinuous process.

(2) It assumes that children learn
through assimilation and
accommodation.

(3) It believes that development is a
continuous process.

4) It
development takes place in four
different stages.

believes  that  cognitive

The concept of 'Life Space'is a part of :
(1) Classical conditioning

(2) Operant conditioning

(3) Insightful learning

(4) Lewin's field theory



9. FERIHE JAaa Ud 4  Foy Hag & ?

(1) 3 Rl TgfRT i 5o & & |
(2) A Rl STRRAT T HHOIR FI B |
(3) THERIHF YA Rl rfear @l

3% ST & Sl 42 R arRRa

P FHEMT S 2 |

(4) TERHE YAEd e SRR @l
FANL ST & & &g Rl
SRR A 35 & B |

10. I TH ThAr @ AN (R

W/aﬁrq‘@faﬁézﬁ%aa Tedl fRa
SR, Fad R/ GTI?ﬁT
g, & WU geed & &9 | {6
T 7E o §

(1) Wi = i

(2) d+ER® @ fEid

(3) R} &1 fEia

(4) gAE H S

1. F=ieg § @ #d9-@r R efaa
YA & e 7@ & 7

PR

ﬁ

(1) uierHE a9 T e

(2) TH I X SEA Rl

(3) oTafys &9 § dd-9rd & oY T
(4) dfed Jawgfs o

12. fHfafag & & ®9-a1 faeeg offfesy
W fegaiey o fgouar 78 & ?

(1) 3@ AR G & awer
(2) AT SA=ilsha § o
(3) 9fess AR AMfEs TR § qHEn
(4) STEEHE /AR FABR

Level-3/3303

[5]

10.

11.

12.

[A]
What is the relationship between negative
reinforcement and punishment ?
(1)
2)
3)

Both tend to strengthen a response
Both tend to weaken a response

Negative reinforcement strengthens
a response whereas punishment
weakens a response.

“4)

Negative reinforcement weakens a

response  whereas  punishment

strengthens a response.

If one activity occurs more often than
another, it can be used to reinforce the
activity that occurs less often. This
principle is known as :

(1) Premack's principle

(2) Thorndike's principle

(3) Skinner's principle

(4) Pavlov's principle

Which of the following is not an

example of fixed interval schedule of
reinforcement ?

(1) Getting salary every month
(2) Dialing a busy number
(3) Having a periodic dental checkups

(4) Getting increment every year

Which of the following option is not a
characteristic
Disorder ?

ey
2
3)

of Autism Spectrum

Problem in vision and hearing
Problem in social interaction

Problem in verbal and nonverbal
communication

“4)

Repetitive behaviour

P.T.O.
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13.

14.

15.

16.

fFY S oTUMT HiEEd HE SeddY A 497
foram | St fepil 1 SEeRl T AX qE1 79
qE D g% a9 ofF & T’ X IE
ZHEH HROT frifhd & | & Tbar © ¢

(1) &7

(2) qEERRa g

(3)

(4) LA

frifhd & ¥ BH-T1 FOF AR B

gﬂ;ﬁ—w@mm%ﬁaﬁﬁaﬁaﬁ

(1) = st F@ @, o1 "emar &,
T & T 8, 3¢ B gC d agd
FH diEd 2 |

(2) e faE &1 a7, 39 fHeia &
T% AN R

(3) T II9% & GIATHS [dpre H AT
% et Hl IUET H B |

(4) & GIEIHE (9 H O@HST T
HERT % R T e & ¢ |
H & AR & AgAR, FEifed § A
PIF-T HAAIED & BN U SR 787 & 7

(1) ST

(2) faeeteor

(3) deaor

(4) ergfseam

Rk & W-thed Hiedd ® G [Tk
¥ -1 B HEET T e w ?

(1) AR g

(2) fEres

(3) TEE AN

(4) afte Tg A

Level-3/3303

[6]

13.

14.

15.

16.

Kim changed her mobile number; and
got a new number. When some-one
asked her new number she could recall
only three digits of her new mobile
number. The cause behind it may be :

(1) Decay

(2) Proactive Interference
(3) Suppression

(4) Regression

Which of the following is rot true about
the socio-cultural theory of Vygotsky ?

(1) Children learn very little from
performing tasks they can already
do independently.

(2) Concept of Zone of Proximal

Development (ZPD) is a part of it.

3) It the
language in cognitive development.

ignores importance of

(4) It emphasizes role of socio-cultural
environment in cognitive
development.

As classified by Bloom, which one of
the following is not a subdomain of
cognitive domain ?

(1) Application

(2) Analysis

(3) Synthesis

(4) Responding

Which of the following is rot controlled
by pre-frontal cortex of brain ?

(1) Body Movement

(2) Thinking

(3) Problem solving

(4) Vision & Hearing



17.

18.

19.

20.

fR SRl & famEaw & ded H
freifed & @ @9-a1 &N g 78
g7

(1) g2 9T &9 H TH TN 2|

) fEmEas & W fReiR S gfE
W A & g8 =% H e 2 |

(3) 3OH AMYE & S9g ARG B
9T Bl 2|

4) @8 IRRE & 99" qEEE Bha
9T Bl 2|

UF X TE HEYH HIAT © 6 AT T
A& o el WR Rl 9 R e B
TE b ©

(1) HAE 396 B

(2) T He® B

(3) HATH-UI=T /9=

(4) UBEN Ghe &

IR UE By H B8 Ud g B
e o iR H 9 fRE WER
28 % Harm e © 7

(1) SUMM - 4RER &g I

(2) URER - URER & &I

(3) IUFM - IYFH & FHl

(4) 27 IUM - UER &8 &l

Gl
%

% AR FHIed § § -9 d% &
‘Teq &% ¥ Hfed 78 © 7

(1) femeg
(3) B

(2) 9™
(4) g Rart

Level-3/3303

[7]

17.

18.

19.

20.

[A]

Which of the following is rot true about
Day Dreaming among adolescents ?

)
2)

It is a form of active play.

The roles adolescents adopt in day
dreaming are heroic.

3)

It involves more physical activity
than mental.

“)

It involves more mental activity
than physical.

A teenager feels that no one has ever
been as deeply in love as he is. It

indicates :

(1) Imaginary Audience

(2) Personal fable

(3) Self identity

(4) Identity crisis

The phrase, 'six on one hand, and half a

dozen on other' best describes which of

the following type of conflict ?
ey
2)
3)
“)

Approach - Avoidance conflict
Avoidance - Avoidance conflict
Approach - Approach conflict
Double

conflict

Approach - Avoidance

According to Ecological systems theory
which of the
following does not belong to Macro
system of the child ?

(1) School (2) Values
(3) Laws (4) Customs

of Bronfenbrenner,

P.T.O.
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21,

22,

23.

24.

25.

R & dey § FEied § @ dE-a

Fo9 T 78 B 7

(1) e fiad & 0% TR 2 |

(2) T8 95T Faer H gha & © |

(3) & TH HiEHT S ¢ |

(4) T8 TR & TG B & [0 &
SIS

‘% 3 w Ay e [ wmr

(1) fo wd | sm

(2) BT TG Ded BN

(3) & ud gae EN

(4) aEEd od X En

“fopr & 2@ O H S OTONl i,

FM, B9 UTH Y Hadl M & BN

fefae @ 217

Te HY9 Fifed H § 9 @SR

forepra 1 oTaRen @ TAH ST © ¢

(1) HI&T THE e

(2) Td SR e

(3) i Hiharcas e

(4) =R GhpaTHS STaee

freifed & 9@ fhe  d@-oeds @

AT AT ST B 7

(1) 31@he fao

(2) fEER A

(3) Sflo WA 2

(4) dlo Tho RepX

freifed & & @9-o1 fRaEeEr &

Ruga f&ae &1 ey 787 8, 9dn &

Tdfhrs R 9/ T 8 ?

(1) aTestars

(2) aE-fgare @i ggia

(3) gfear/emried

(4) fafersear %1 ggfd

Level-3/3303

[8]

21,

22,

23.

24.

25.

Which of the following is rot true about
areward ?

(1
(2)
(3) Itis a pleasant stimulus.
@ It is

response.

It is a type of bribe.
It increases desirable behaviour.

given to strengthen the

The 'investment theory of creativity' is
given by :

(1) Binet and Simons

(2) Carrol and Cattle

(3) Sternberg and Lubart

(4) Watson and Ryner

"At this stage of development, children
think with their eyes, ears, hands and
other sense organs."

The above statement best describes
which of the following stage of
cognitive development ?

(1) Sensori motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage

Which of the following is the founder of
Child Study Movement ?

(1) Alfred Binet

(2) Theodore Simon

(3) G. Stanley Hall

(4) B.F. Skinner

Which of the following is not a form of
immaturity  of  thinking
adolescence as proposed by Elkind ?
(1) Idealism

(2) Argumentativeness

during

(3) Assertiveness

(4) Specialness



26.

27.

28.

29.

30.

Frefifed & & ®F-d1 Reer e
cMedi=h 78 & 7

(1) e e

(2) 9

(3) @

4) gasiF

SIECIEC - I COMR PR R I o
frsfd & #A-@1 Fem g @
Heed T & 9 © ¢

(1) SI9IT & e

(2) I &1
(3) UHE H FIH

(4) TR (Fard) &1 e
‘el T g Qe g 2

(1) gfe afmr 3o T=at & fo

(2) AT e gHI T==l & T

(3) ST AEHHTT YTl & forg

(4) AqfEF T o F=at & g

¥ gfE # MEaREd § 8 S

Hebas darm © 7

(1) gia T § 103 3% 9 HTT

(2) S & Har e FHA

(3) A I U< HAT

(4) g=UeT % ggEd TN T B A
RG]

U% T BT BT TN §euel @l
o Sl UHN TRAT ® orET 3§ 3% W
¥ 39 |9 & ST B | I8 SEed’ ©
(1) fopam 9ga STgee &

(2) I AT

(3) e e &

(4) Sidefte SR &

[9]

26.

27.

28.

29.

30.

[A]
Which of the following is not a
democratic teaching strategy ?
(1) Problem solving
(2) Project
(3) Discovery
(4) Demonstration
Which law of '"Trial and Error' given by

Thorndike is similar to the concept of
reinforcement’ ?

(1) Law of Use

(2) Law of Disuse
(3) Law of Effect

(4) Law of Readiness

‘Modelling' is an effective teaching
method for :

(1) Children with visual impairment
(2) Children with learning disability
(3) Acid Attack Victims

(4) Children with intellectual disability

Which of the following is best indicator
of high intelligence ?

)
2
3)
“4)

Scoring 103 on an IQ test

Reciting poem from memory
Earning high grades

Not making the same mistakes after

receiving feedback

A child angrily hits a playmate in the
same way that he has been punished at
home. It is an example of :

(1) Operant conditioning
(2) Classical conditioning
(3) Observational learning

(4) Insightful learning

Level-3/3303

P.T.O.



[A]

[10]

HRT— 1l / PART - Il
A (R= @d $i3sh) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
@1 : =i go7] % e @7 @ [T qa8 SfEd [dweq giae

31. INi g | g 9= BIfeT
(1) wemEE
(2) @¥fhd
(3) AT
(4) Prar

32. dfver #i gfte & o fasked g -
(1) @F + 9% = qER
(2) fasg + = = fasa=

(3) TEE + O = TEAAR
(4) 9T + 197 = A

33. U I 3 q @I [T geu

(1) FgT + 7=y
(2) 39X + T =Ty
(3) ARF + F = Wi

4) fafire + 7 =3

34. TAE F e q HHE-A OEA  FGIT

g7

(1) 9 R 99 = 9d geiid

(2) 9a9 § TR Gl Tl = Y]
(3) @8 Sl =g A AT B = =LA
(4) THER % f0 o= = HHERE

Level-3/3303

35. ke § dgaE o1 A= H SFGAT Hh
BifeT
(1) sl
(2) Tt
(3) gt
(4) et

36. 9 ey H ‘orgm OgEY THE &
R BT B 7

(1) "
(3) Tderd

(2) fefqea
(4) FHSH
37. PR H P &9 W & - 9 § 9gH
A T
(1) Fyggam=s (2) ANYEIaES
(4) JoHarEh
38. e @ § R d@ HHE-HE-A
g7
(1) i o) q==
(2) i, g SR FR®
(3) ff oiR #R®

(4) I, aeF Ud gey

(3) u9arEH



39.

40.

41,

42,

P o/ H ‘UM S afe @l S
TET & 8 7

(1) =M

(2) =B~

(3) THHD

(4) HIG=BET

TE AR g d Al B B - I
e faQer @ e @ feg sraem @
ara® & 7

(2) FaUEET

4) &0 @ B T

(1) etz
(3) I
=1 4 @ fpm foeed & ST aes
e B 7

2 g

(4) g

(1) &g
(3) T

FROBRE P qH G

(1) & G 9 | 2l 2 |

(2) 3 fomr Em M R

(3) afer TS | Feereh Fre 2 |

(4) 39 @Edl B | UF == H 6
goe | T |

[11]

43.

44,

45.

[A]

qu-fax @ e | oI faeed

g -

() @ & ©F § I=d & qa9 @1
% AN 8 M @Y IR & R
W dH @ #Ead & Se
- ®=&M & S=Ra @
feme =X & am @ M =
FYHRT @ FEA ¢ |

2) FTER @S H TP §; TEE
T @R A T 2 |

(3) o1 @ & I=RT ¥ gar T 9
T g @A g@ A4 e o
S B9 @ & SERe {4y
g & re-qry A § e
g 3% ‘TRIAIa® @ el S 8 |

(4) =8 qoimen § 9 ¥ § & aof o
g e T 8 F F omfe v wmyt
e 2 |

BAAHY SR UH-gE H THH o
Siiad e Bl ST - I e fhd
FT q Gae 8 °

(1) BYegHe s (2) Hred i
(3) 9Mg Aia=q (4) |y aaHe

‘RIS H JETTRA bl gie | H
4 @87 (STRIE) %A are e &

(1) foretea, op¥, aRife], &1o1

(2) &, A, A, foase

(3) ¥, Fdifd, foase, &

(4) aFAif, ¥, foase, afor

Level-3/3303

P.T.O.
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[12]

[ 3T3STl / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Choose the word in which the prefix

dis — is incorrectly used :
(1) Disbelief

(2) Disobedience

(3) Discomfort

(4) Discussion

Complete the sentence using the correct

option :

George has travelled alot. He ............

speak four languages.

(1) may (2) can

(3) need (4) must not

Choose the correct option for the blank

given :

He found her blue ford escort in the car
park. ............ vehicle was locked and

the lights were off.
(1 A (2) An

(3) The (4) zero article

Level-3/3303

49.

50.

51.

52.

They rested when evening came.

The underlined group of words in the

above sentence is a/an :
(1) Adjective clause

(2) Noun clause
(3) Adverb clause

(4) Conjunction clause

Choose the word with the incorrect
suffix 'ship':

(1) Friendship (2) Membership
(3) Relationship (4) Argueship

Which of the options given below is the
correct indirect form of the given

sentence ?

He said, T have passed the examination'.

(1) He said that he had passed the

examination.
2)
3)

He told I have passed.

He said he must have passed the

examination.

“4)

He informed us of his passing.

Choose the correct synonym of the

word 'contaminate’ :
(1) Defile (2) Rehabilitate

(3) Detach (4) Valid



[13] [A]

53. Choose the correct plural of the word 57. Choose the correct option of the
'species’ : underlined phrasal verb :
(1) Specis We must cut down expenses or we will
(2) Species be getting into debt.
(3) Speceis (1) Reduce in size or amount
(4) Specieses (2) Appear
(3) Expose

4. Ch h t iti .
54. Choose the correct preposition for the (4) Rise to the surface

blank given below :

58. Choose the correct form of the verb

She had great affection ............. her 'play’ from the options below :
grandchildren. They .............. (play) since four
(1) within (2) into O'clock.
1) h layed
(3) against 4) for (1) have playe
(2) will play
55. The old man was tired of walking. (3) play
The underlined word in the sentence is (4) have been playing
used as a:

59. Choose the correct past tense and past

(1) Participle participle of the verb 'Begin':

(2) Gerund (1) Began, Begun
(3) Noun (2) Begun, Begun
(4) Adverb (3) Begin, Began

(4) Begun, Began
56. Choose the correct form of the verb :

60. Choose the correct synonym of the

Gymnastics ............... my favourite
word "Pinnacle’ :
sport.
1) Peak 2) P
(1) is Q) are (1) Pea @) Pass
(3) Foothills (4) Deep
(3) were 4) do

Level-3/3303 P.T.O.



[A]

[14]

HET -1/ PART -1l
g 31e9g-1 / GENERAL STUDIES

[ AEITH% JRGdT, difthsh SATRMRIAT G |MT 319 U9 S1R¥sT< / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : =it ged] & 37 @7 % [ qe98 ST [dweT g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

g "e 10, 12, 15 qO1 18 & o

fefor 8 arer =gAaH oot v @
(1) 876 (2) 900
(3) 981 4) 1024

CH fam AR AND, B P EIA
H AL ERIFND & 921 C 2, a B
3T E &1 91 95 & 7

(1) E
(2) e
(3) fd
(4) @l

fepdl Hishice w1 § 'CERTAIN' &l %2
= 'XVIGZRM', 'SEQUENCE' & %z
I 'HVIFVMXV' &, @ 'MUNDANE'
ST FT FHT BT

(1) NFMWZMX
(2) NFMWMZX
(3) NFMWZMV

(4) NFWMZMV
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61.

62.

63.

The least perfect square number which
is exactly divisible by :
10, 12, 15 and 18

(2) 900

(4) 1024

(1) 876
(3) 981

A 1s the father of C and D is the son of
B. E is the brother of A. If C is the sister
of D, how is B related to E ?

(1) Daughter
(2) Brother-in-law
(3) Husband

(4) Sister-in-law

In a certain code, 'CERTAIN' is coded
as 'XVIGZRM', 'SEQUENCE' is coded
as 'HVIJFVMXV' then how would
'MUNDANE' be coded ?

(1) NFMWZMX
(2) NFMWMZX
(3) NFMWZMV

(4) NFWMZMV



64.

65.

66.

67.

= # 9 F9-@1 I "DICTIONARY"
% e B JAN B B FeT S S
e

(1) RATION

(2) DAIRY

(3) NATION

(4) ACTION

AP, QHFM WE S, R, PH WA &, S, T
FAE R T, QFH A& 2, @ S B AWM
P g ?
() R
(3) T

2 Q
4) P

"BRIGHTER" 915 & 31eRl & fohae TR
fF efIel oy & 2 § ?

(1) 4 (2) 2
3) 1 “4) 3
ar Lot A q [N g
y 5 ’ 7 2y+x
g
1
1 _
(1) -
3
2 =
(2) -
1
3) 3
@ 1
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64.

65.

66.

67.

[A]

Which of the following words cannot
be formed by using letters of word
"DICTIONARY" ?

(1) RATION
(2) DAIRY
(3) NATION
(4) ACTION

If P is brother of Q, R is father of P, S is
brother of T. T is daughter of Q, then
paternal uncle of S is :

() R 2) Q

3 T 4) P

How many pairs of the letters does the
word "BRIGHTER" contain in such that
the two letters of the pair have as many
letters between them in the word as
there are in the English alphabet ?

1 4 (2) 2

3 1 “4) 3

If

=i, then value of E_Zy—x
5 7

*
y 2y+x

18 :
(D
()

3)

W= QW Q=

C))

P.T.O.



[A]

68.

69.

70.

71.

Uk AR H, A g C &% dsr & U
2: 18 Sk AdB & = Fas &
A 3 : 2 B AR ITH F AN HH
1,573 €, a1 Bl fehe & fieim ?

(1) 363 %o
(2) 484 %o
(3) 605 %o
(4) 726%0
U ARH AU Y G 14 a9 g H 9l
g, A 99 dE, IHH AY AW G &

AY 1 A BN A g aaEe g
e 7

(1) 8ad

(2) 10 a9

(3) 12 a9

4) 14 T

e # e Eof demn J1q H
10, 12, 28, 90, 360, 1850

(1) 12 (2) 28

(3) 90 (4) 360

28 TH % USH, 42 ¥ & Ui 9 21 H@®
3 USl @ Uik & IR WX 39 YR o
T S R e gl iR § dad
% & UPR d 9O d@er H U e | al
gl Ut B @ & U A dfeRE
& GE& Bl
(1) 9

(3) 11

(2) 10
4) 13
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68.

69.

70.

71.

In a business, A and C invested amounts

in the ratio 2 : 1, whereas the ratio

between amounts invested by A and B
was 3 : 2. If their total profit is Rs. 1,573.

How much amount B will receive ?
(1) Rs.363
(2) Rs. 484
(3) Rs. 605
(4) Rs. 726

A man is 14 years older than his son.
After two years, his age will be twice
the age of his son. The present age of

his son is :
(1) 8years
(2) 10 years
(3) 12 years
(4) 14 years

Find the wrong number in the series :
10, 12, 28, 90, 360, 1850

(1) 12 (2) 28

(3) 90 4) 360

There are 28 mango trees, 42 apple trees
and 21 orange trees have to be planted in
rows such that each row contains the
same number of trees of one variety
only. The minimum number of rows in

which the above trees may be planted is :
1 9 (2) 10
3) 11 4) 13



72.

73.

74.

75.

76.

A % = B 8 g 4 B A =R C H
REFT &, g @ 30 @ C, 54 fiFfe H
T FaT 2, @ B fheq @y ¥ g
BT ?

(1) 9 e (2) 18 e

(3) 12 Hee 4) 15 MHee

I AR Wie # TEE Td deR

HAM 50% TA 20% <o Sl g, @
T6D S F fbae T gRg BRT 7

€] 2)

3)

10 @eX 39 | 8% UMl &, TEH b
& 3 foamn oo fed gq fee |
Il 4% T& T 7

“4)

N|—= W[
Nk Wl

(1) 6T (2) 8drex
(3) 10@rex (4) 15drex
PIiS sinA—cosA=0 g, ar
sin4A+cos4A HT 7 BT :
(1) 0 2) 1
1 3
- 4) =
(3) 5 4) 1

Tk T, ﬁﬁaﬁgﬁaﬁwﬁ%
g9¢ H 0 F & SEh I8 gl Hl
Wﬁl%aﬂ%ﬁaﬂaﬂ—cﬁ%qﬁﬁ
5 frdt ofa guer @ g & =l B, @
Re} gl § A9 &l T S B
(1) 10 fpH/Aver (2) 12 fHt /g0

(3) 13 Rt /Aver (4) 15 fHt/gver
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72.

73.

74.

75.

76.

[A]

A 1s twice as fast as B and B is thrice as
fast as C. If some distance is covered by
C in 54 minutes, then in how much time

will B cover ?
(1) 9 minutes (2) 18 minutes

(3) 12 minutes  (4) 15 minutes

If the
rectangular plot be increased by 50%

length and breadth of a

and 20% respectively, then how many

times will its area be increased ?

) 2)

3) “4)

N|—= W=
Nk Wl

10 litres of milk contains 8% water. What
quantity of pure milk should be added to

this mixture to reduce this to 4% water ?
(1) 6 litres (2) 8 litres
(3) 10 litres (4) 15 litres

If sinA—cosA =0, then the value of
sin* A+cos* A is :
(H 0 (2) 1

1 3
- 4) =2
3) 5 4) 1

A boat covers a certain distance

o1 A
downstream in — hour, while it comes
2

back in 1l hours. If the speed of the
2

stream be 5 kmph. What is the speed of
the boat in still water ?

(1) 10 kmph (2) 12 kmph
(3) 13 kmph (4) 15 kmph

P.T.O.



[A]

77.

78.

79.

80.

af¢ fpel FIe AT F 'pit dar na'
ad ‘GH =S &7, 'dar tok pa'
ad ‘o8l AR U7 'tim na tok'
e ‘G g e SE AW Y % g
B9 A= B ?

(1) tim (2) tok

3) na (4) pit

e SO BT, IR-UREH @
‘oiEm’ ‘SRo-uided’ @ ‘SRr @Er
ST B qer 3 U AW off & B, o
‘TAT H FA FHEl S ?

(1) =ferer (2) ITX-vieEH

(3) IW-q4 (4) TN

TF O 3Rl Hl G 4p3 H 984 Sred
W TF IR 3R & d& 13q7 I el
213X 13q7, 119 999 &, @ (q—p) F

qM BRT -
() 8 2) 9

3) 7 4 11

fRu U e w1 dqia wE T

ferel & ufcreare & form wioRiE fEel 6

qEl AH TR G
9#7%2%3%10

(I) Xx++= (2) —+x=

3) +-x= 4) X+=-
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77.

78.

79.

80.

If in a code language 'pit dar na' means
"you are good", 'dar tok pa' means
"good and bad", 'tim na tok' means
"they are bad". In the same language

which word stands for "they" ?

(1) tim (2) tok

3) na (4) pit

If 'South-East' is called 'East’, North-
West is called 'West' 'South-West' is

called 'South' and so on, what will
'North' be called ?

(1) South (2) North-West

(3) North-East (4) North

A three digit number 4p3 is added to
984 to get a four digit number 13q7. If
13q7 is divisible by 11, then the value
of (q—p) will be :

(H 8 2) 9
3) 7 @ 11
Select the correct combination of

mathematical signs to replace "*' signs

and to balance the given equation :
9*7*2*3%*10
(1) x++= 2) —+x=

3) +-x= 4) X+=-



81.

82.

83.

84.

85.

86.

Raarel, ™R 2018 & wREE @« #
o qeh S

(1) @1 Ea

(2) I g

(3) fa™ F=T Fred

(4) dmr i

frfafas & & F9-0 e afedr J
Tfed 78 el § ?

(1) & (2) FHHEEC

(3) 3= (4) g

& R Fd SE J 1857 & shifaemi A
ECET-e e Mo B oo M 2| B

(1) 9aq (2) Uzah

(3) T (4) ARA
STO-2011 & STEUR WX ERATm @
JET FERA X ©

(1) 75.6% (2) 65.9%

(3) 84.1% 4) 71.4%
FrfaRad § & b9 T & |1 R
TET U’ ST || T T © 7

() fed=d g=sT

(i) ITETS

(iii) TeTEI=

(iv) 9STT"

q& ST Y

(D @Tar Gv)  (2) 1) TAT (i)

(3) (iii) T (iv) (4) FAF (iv)

do FHRT M & I} | fr=fareag § 9

BT AT FFT § 7

(1) Jo “HRM M= 3 fda® & 9ed
el | wewayel G e |

(2) e oEd & o S
T § Sl @ U SEEe @
ST T o |

(3) I NaFl ¥ U Aded  Hawr
TRIaTe foha |

(4) 1952 ¥ 1956 T% di {9 99 &
T R©
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81.

82.

83.

84.

85.

86.

[A]
The player who won the Gold medal in
the Asian Games-2018 :
(1) Neha Goyal
(2) Bajrang Punia
(3) Vikas Krishan Yadav
(4) Seema Poonia

Which of the following rivulets does
not converge into Sahibi ?

(1) Dohan (2) Kasavati

(3) Indori (4) Drishadvati

The region in which Colonel Gerrard
led the counter attack against 1857
revolutionaries :

(1) Panipat (2) Rohtak

(3) Mewat (4) Narnaul

The male literacy rate of Haryana as per
the census-2011 is :

(1) 75.6% (2) 65.9%
3) 84.1% 4) 71.4%

With which of the following states, the
"Kalesar National Park" shares its
boundary ?

(i) Himachal Pradesh

(i) Uttrakhand

(iii) Rajasthan

(iv) Punjab

Choose the correct answer :

(1) @) & (iv) (2) (1) & (1)

3) (i) & (iv) (4) Only (iv)
Which of the following statements
about Pt. Neki Ram Sharma is not true ?
(1) Pt. Neki Ram Sharma played a vital
role in the Home Rule Movement
of Lokmanya Tilak.

He organized a public meeting of
Gandhiji at Bhiwani during Non-
cooperation Movement.
He published a Hindi
'Sandesh’ from Bhiwani.

He was a Rajya Sabha Member
from 1952 to 1956.

2

(3) Weekly

“4)

P.T.O.



[A]

87.

88.

89.

90.

‘JegrEl foare A AN & R |

Frretferiee semt oX fer=m iy

() Wh fagar & T F faaE 2]
gl,OOO U e feEr o
|

(b) U fauar wfeen & aiffie o T
TRE B9 § FHH B AR |

SEE ¥ & B-A1 #0978 /8 7
(1) Bad (a) T B |

(2) Fad (b) TE 2|

(3) Tl (a) AR T & (b) FE B}

(4) (a) T (b) AT T F |

frfofag & @ ®9-891 ®od ‘9qErr
T AT $ ST a7 & 7
(1) =T (2) o

(3) TR 4) @

Frefafad & & @e-a1 BEa g
geuis (dlo Silo g=go) T & ?

(1) STEs 2) T

(3) HEYXY 4) R

frfcfad @ gafed HifT

Gy ot

A. X ol% uRRRE () HeEs
H dfTead

B. X % Ufmed (i) R
B gy

C. 9G¥ % Ueded (i) 3%
W THeH

D. ges  G-FUT (iv) HE
ECm ATy

e e P
A B C D

(H @ @@ Gi)  Gv)

2 @®» (@) @G) Gv)

3) Gv) @y Gi) @)

@) Gv) (@) @G) @

[20]

87.

88.

89.

90.

Consider the following statements about

the 'Mukhya Mantri Vivah Shagun

Yojana':

(a) For the marriage of the daughter of
a widow a grant of Rs. 51,000 is
provided.

(b) The income of such widow lady
must be less than one lac per annum.

Which of the above statements is/are
correct !

(1) Only (a) is correct.

(2) Only (b) is correct.

(3) Neither (a) nor (b) is correct.

(4) Both (a) and (b) are correct.

Which of the following crops does not
cover under the 'Bhavantar Bharpayee
Yojana' ?

(1) Sugarcane (2) Potato

(3) Tomato (4) Onion

Which of the following is a Painted
Grey Ware (PGW) site ?

(2) Balu

(3) Bhagawanpura (4) Bhirrana

Match the following :

(1) Banawali

Center District

A. Center of Excellence (i) Kurukshetra

for Vegetable

B. Center of Excellence (ii) Sirsa
for Flowers

C. Center of Excellence (iii) Jhajjar
for Fruits

D. Integrated Bee-keeping (iv) Karnal

Development Center

Choose the correct code :
A B C D

H ® @ G Gv)
@2 ® G @ Gv)
@) Gv) G G @)
@ Gv) @) () (3)

Level-3/3303
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[A]

AT - IV / PART = IV

USTSt / PUNJABI

91.

92.

93.

94.

Afoga dar-2 us-ynza fg €9 faost
JosT I fAam &9 ®d9 @ gaat w3
grfamt &t A<z UFaret St aret 97
(1) ‘g5 Iv gAst &9

(2) Tt <9

(3) ‘&=t = fumg &g

4) ‘s fiu-fey ffw &9

g aurst o Sfuar d= 37
(1) Fus 38 We

(2) Es8ly d9 feerer

(3) WMz d9

4) Ifmq

‘HIIHT €U’ € MA% & &t Ar?
(1) dr=3v frumew

(2) gu

(3) €=<3

(4) FUUs

e J939 fiw AaeT § et &3t aret,
< En<t ©vg fadat At ?

(1) 19 78, 04 w318, 25 fes
(2) 19 78, 03 HWa1&, 20 fes
(3) 18 7®, 06 WJl&, 21 fes
4) 19 78, 05 WJ1&, 23 fes

Level-3/3303

95.

96.

97.

Aoz € fan gu <9 o<t aret 97

(1) &y

2) IS

(3) dat afear
(4) geret

BRI el At €T € ygr & qt

AT ?

(1) féeg avg aer

(2) €Hg I aer

(3) €m=gd dI<9 a<r

(4) fewaH d¢ Jer

UT3d g8feed, TU3=d M3 S¥3I=d &7

gy fes & W3 adt| f3s7 &9 It =t

wag @9 I@m &dt Tder| fewm <

gege Qust € wa &9 36 I mil-

AEl @AT W9 @ Atdt fegae fea uet

31 ITC MI yret =@ F96 ot I?

(1) f3=t ar QW =T ggm

(2) MgedT AS-dafdl ISEHT

(3) < fam Tt Fies-ATgT T Sud<t

(4) € ya'g St Freit Aes-ASt
T 3y 33

P.T.O.
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98. ¥ W Mieg =t &= f<9, A9 39 <9 102. I93 f&g ufost 37 Te39 95 I
yfiat g &t fieur fiw & 95 first w3 faw ge (WaT) ‘T I8t
g fds His €35 = wfodH 95T
fpyr ? (1) 01 g& 2014 § U"E‘NE—@'&‘TQ?
(1) o oa His s
Q) fds gaa ® (2) 03 @mEt 2015 &, féstaAue
3) &5 & s fees
4) Fo itz (3) 03 =& 2014 &, fEStmmIEr
feos
99. T 3 I <t :
::fwwag . e e e 4) 01 @& 2015 &, dstog-fest ge
3
(1) 37. g3fded ad
(2) amtT a9 103. ‘gTar @ gy oSl @ #3 fem T,
(3) gfred g9 ‘g v fan & uzT a9t A, |7 A
@) iy s &% wd HaT Ifeqm A E® der JI

393 fegg mgAd 379 d< J7

100. 99T BY g4l A € A6H g« w3 fdg

e ? (1) 719
(1) 1266 €<t &, uaues feu (2) gas friw
(2) 1173 €n<t &, yaues feu 3) &% "I

(3) 1217 ém=t §, frmsae feg
4) 1173 €=t &, o35 &g

(4) »oygs IS

104. HBH-HIEPMT ufggma mae & <

101. w9 gAs < afesr st s fans W3 o aet?
st wEe e of »iEgg J7
(1) =9 Ar@8ues &, Mam3 1966 f<g
(1) =T AIZT
) W fs=mit (2) Hist getug &, @& 1965 f&
(3) war-fe=m=it (3) HargTElen &, A= 1967 &9
4) fuerz 9at (4) o9 @IS &, TBE 1966 &9
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105.

106.

107.

108.

=93 I HEE T T S FE J?

(1) 3t

US-UAST HAfd3d dar-2 &g avs
Jg&T ‘T I adfem™ er Byd d
J?

(1) yam fiw fars

2) d=® TBlEw

(3) gBfeeg fw 973

(4) gsfeeg fw Aet

‘3 fuder quet @ Byx W3 Gnet
U3at mruet g9t Hig § 43T BeF a9
fager fag =at ms fée? forsfasuz
feg fagz a9 Adt &t I°?

(1) €5t & 39 At fa dat feng 33
o4t |
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109.

[A]

(2) 8g msT As fa fuder §9 et

3T ©F &df, Adl RIS o duS
TE AT JI

(3) €5 € Hs fIT fuse € g 7=
T 39 97g H|

(4) fa€fa Qo »ust gt & furg
&It AS Fae |

¥3 fiw dor sfea auet ‘yem & 3
3t gggr f&9 umw fewr=ng € ydar
Jfemr?

(1) feg qu=t ude™l Ffamt ommar
oAt st 3% J13 A fuses
T ydeT TH 9t J|

feg go=t €net I fa ugent afsg
forg € vus @9 a8t sehist
&4 Fae |

2)

(3) e BF MUE HF It § femrg

~ =~ S

T U6 yent f&g 37 o, WU

[YST B9 I5 | IIet feg Her =t
Qgmaet JI

g998 Weat 3 fewg ggele
et g9z WE HF ISt e © w3
swdt 3t e It g, ufost fenrrg
g de 5| qoet few wAs 3 S
Sar® et JI

“4)

P.T.O.



[A]

110.

111.

112.

113.

fovsfeyz feg fagst sgsr It <9
fAwr €t =at 37

(1) ‘Bfget € g3’ (2) ‘&It TIHS'

3) Y3 s (4) ‘s=<-gaAEl
fovsfeys f&9 fan feasu fegd A9
B9 Afozd-gu &9 I3t & Faat &9
St W ?

(1) W3bst, 2ur, g9

(2) Sdbdt, E3T, §ST

(3) HUTET, HTIbdT, Ee-udTar

4) fdast, = (d19%), 8

Jig »HIE™H A € HEE “Har fuzT waT
afg &y T ofg duy di9r11 ofs ofg ufm

fusfe yg A5 saq dler1l” &9 ‘day’
HEe 3 ot g2 J?

(1) sorea/gadta

(2) dus

(3) dent 335 THT

(4) go/fau3ea

Tu @t Bfgat’ Foret &9 =93 a®
AEe ‘fée Aer & ot »Eg J7?

(1) o9 T A=T

2) ye AT

(3) dar €7 A=r

4) U=z ¥ AT
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114.

115.

116.

117.

g AOgE wedt’ gt @9 =93
3 HYe 999’ € o wdg J7?
(1) I9& T AT

(2) HAZ AT

(3) Tat g EO& T AS/WETT AT

4) ya J 7T

a5 fAw € fan s=% '3 fean set?

(1) »fg fufanr S5 '3

(2) uf<3sT uynit '3

(3) uf<3a dus I

4) f&x fimrs € I\=at '3

35 fafout {39 fags qus 37. IgusT

T T &It I?

(1) HI BT II5'% Hfgd It AT o% J|

(2) ydt gatdt Wt W3-t J1

(3) AHeT gfois Har ufgeg J|

(4) W gabtrt @ fan g g7 &2t Aan
&at famr|

Afosa fads-1 urga f&g wan <iew
s "ag <t afesT Uay e Jns/day),
Enet fan yrga &9 &<t aret 97

(D
2)
3)
“4)

‘59t wons’ f&9
Hare' &9
‘wafadt a@hnt’ g

SNy =

‘HIE #ad 9



118.

119.

120.

121.

3. €. Ul. 7. W¥e® I ATy & N3
fig 3hsss AegT 3 Guat € 7aH
fes (15 w»agwe) & fam fe=m =
a8 T mwTs digr?

(1) fefamrs foem ==

(2) Himets feem =a

(3) SassAt feenw v

(4) oS ysd-AdeE feen =+

AUEd d< J7

(1) Feaw g fiw

(2) fdarer fiw g9

(3) mfd=g friw 37

(4) "afreg fiw ovege

@8y dg feser 3fez Fuet ‘A3t

Aefug 97

(1) "dte g9 fiw <t gogst &%

(2) AEl At g © AiEs %

(3) adte so= fAw & Mdise &t
Yz w3 faeafest a5

4) &g #»§ ¥ar3 € gueTet Ales 5%

R AoWe’ g9sT mfog € fam gy

(Form) &% Adfug J7?

(1) =al/me=st

(2) afesT/dgt afear

(3) Bu/fsdy

4) wran-fdga/au-fidse
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122.

123.

124.

[A]
BTet gl

S8 AT g = Ut U8, ¥ 99 491 99
AT g’

‘St MAET3’ T gE-mdE &t I7

(1) wrer-=mgr

(2) ™" (UBH)WeS (HElaH) M3 Tt
R0

(3) BE-FIAS

(4) feg féq 9md e & J|

‘Wt feut 30 g@ag v stet Sfarrm
JE BT & AT U W UIgI Bfernr I’
feg afenset fam o<t W3 Enet
faost afesr f&9° 957

(1) st <9 fiw : Sa=t Aar 3 suat
(2) et Si9 fiw : duet a@TEr

(3) Y. Hus fAw : o= e Ales

(4) set <9 fiw : fasenr & &5

‘Frfe-aHrel’ yAST & AUTEd/Autadt @t

St & J?

(1) ofggas fAwr

(2) 4. fygus friw

(3) Ifggras fiw, #AIEH THS W3
39T AW wisas

(4) §. gfegrs fw W3 3. Hideg dg
faiz

P.T.O.



[A]

125.

126.

127.

&2 f&g A, S W3 a9 € eI
@ oA firs dftwr weT J1 g99ds
fAw 3fezs sea ‘FeT ma3t’ fan A &t
g3 uger 37

(1) As 1948 7=t @ ik &t

) As 1951 dmet &

3) As 1968 #F=t &

(4) Sudazs I8 feamsu/39 ala I

‘€T gws & dF HeT WG, IS
fosar g3t et st
gst aH I3 & afesr ‘Tur Aew

)

QW d= I?

(1) fdeggs = gfae =TT IJa=s
faus it = ffa saelat fomder

2) IUr <& féda IEBE HIBT =T
\Ht/ust

(3) U & Buew €< T AT I9

(4) AI-AUsT @9 g&Et due T
gaes fqus = fa 333
famrases fag

At BYW A=T gatit ufgae -
(1) € » fe
2 feRr€
(3) wr gt W

4 €¢¢e
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128.

129.

130.

131.

q. yas fw g9 fausT aas TgA3s adt

J?

(1) 80 G9ad & =3, a=t w3
TI3T BHA AS |

(2) €7 fd3 & dB=a3t U3dad As |

(3) €7 gnfes fefarrat A |

(4) €v FSadt M3 FIz9 st
T8 f93a Aa |

‘Has € f&g I3 udt I € J9sad

d= J?

(1) g<r 583

(2) Aoe fiw Himr

(3) HIAIZ U39

(4) AI39

forvsfeyg &9 faost g™ awawg
ot &at I?

(1) riogst gdt fiw s@wr

(2) fanr "t goure

(3) fdmr g&r oy

4) fomr Aast Hates

IWH HT o9 J9t Jrer €9 foust
I9&T I, 7 »H Bar f&¥ A9 I =T
HJgSE Jet?
(1) BB HAg (2) RISt Hdt=®

(3) wHt U§ 4) Wt ggoe



132.

133.

“ar @9 F fwE It uerer, feg
wys fom gwg f&g A fad fAg Ha
'3 feravs 13T Aer J°

(1) A< Jet fan <8 ¢ I3 849 &
HY Y& B2 3 Gnd »AstHz Enc
il

A det fast &3 3 d<w feu=
w3 Ifewret urzq, fe3-grger <57
yaoT 996 ©f fef3 se= 3T Gng
Mg Zet|

2)

(3) agt av fAg szer =W, €7 =9

93 Jds a3

Hgg ggt Jardfemr @< 3t R

JdTd &T JI& @ Iae Id& Wl |

“4)

“JAS B €T W &t T, 39T &%
A-ﬂ . -l

U< Jidt <t wrt &9, m@er Aer Ag
i 1

feg afedastnt § Wos fiw <t

gfegr T@al &9 x| fem feg fom

MBI @ IS Jet I ?

(1) Sur mBarg

(2) fewes Mdaq

(3) mf3aEat Wa3a9

(4) »EYH MBEIT
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134.

135.

136.

[A]

At gig difde fiw #t &t <09 o9& fam
g f&g 97

(1) zant feg
(2) dmrt fg
(3) Anfqz f<o
4) grffem <9

ggT  HY &dte  Eetvt & faw

frens/fugee 58 Adfug As?
(1) great

(2) femst

(3) samEget

(4) FgI=ast

“forg ARG dast wWwg =Irg gl
afe fuegr f3aT AAeT 328 &t g1’
Quiag A8a fdg o9 gdte At & W
W3 &Y HEE & JHE9 fauz F=-magt
feg =afamr J7

(1) ‘Had’ W3 ‘fomst © wagt <9
‘sufmg w3 ‘fusedss @
IEE)

(2) wagr

Wi w3 WMy € nagt
feg

3)

4) w33’ M3 fumg’ & wagt f&a

P.T.O.



[A]

137.

138.

139.

Ffezr & ufggmr 9 fagsr aEs 1.
Y35 fAw & adt g7

(1) afesr go/fes &t g8t T

(2) AT H& @ fifee §5 afesT ao@e
I

(3) afe3ar BW wifgum & Qua Jet J1

4) afegr It Iz T, feo wewm
g €39<t J|

g9 fous fag 73 & uzmI Az W
fAg 33 & 371

AY 3 €9, Ags 3 &d7| 7S 8% HIMS
AT gHaT |

OAH UT3HT Arfog /it gig difde fiw
gt fegt arfe-dagdtnt & Jusr faos
gv f&g Jet 97
(1) s=ghnr (2) €qa

(3) af¥zx (4) Suet

st © fqugr de wiga s8¢ & Ssait
feg =t wrer 37

(1) €I9" M3 AdaT
(2) AIET M3 JIIT
(3) Ifgz M3 <gar

(4) ¥3 M3 dazT
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140. 99 feasur &9 Muye/mu 3 ug< :

141.

142.

(1) 3et =@ yors g

(2) 383t feg fiar g9 A<=

(3) fEa J7 && ISt &t FAet

(4) ISt € Ut &B I8 deT
mufssd Jie 33599 fagg &g aHs
JY/AHT ‘BT IT9T I IE FTH’ WMEHT

B ‘gaghdAT w3 ‘gt = 3 fand
me 95 7

(1) g9 37ad M3 It BB &

(2) W& 9T M3 GAT FIT &

(3) AEYT € &=9 M3 GAT U39 &
(4) g9 57T M FE HIEST §

g &6 g< #t & fauz few=est uH

AAfglg M3 gont & fifewr oS
a3t ?

(1) dfs3 dus 3 Ufs3 fgasg maHr
Ui

(2) Uf33 IUS W3 H&&T IITClE I

(3) Ufs3 fgAs™® meHT W3 HeE&T
F3=HCls U

(4) A=t fadae &W w3 "Asar it
E3



143.

144.

- =

‘g5 & JEw T wigT 3¢ e Ifenm

diat gat 3 efeuret A7 #igg § Sfonmi

fegst afe-dadbit fSg gfae © iz ©

dee € FUI Ha3d »iag dt 957

(1) a<t € He niwast ffa gruyt
AIA3HT s €3¢t @ dee g9

Jo |

<t @ fgou feust desq w3
95t & Yarege 5|

2)

fan moet few9s < fAygst At

¥ 22T 979 OnT JI5|

3)

wfeg & fors €3« fegs fam
So-Udt 7 god Uy § wegE

Jo |

“)

T mI3T Fed € gAd R (via) fee

fagst g3 & fags Sfewr I7
(1) gg9 €t 33 =

(2) A3 I3 =7

(3) Usgz I«

4) fors &t 33 @
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145.

146.

147.

148.

[A]
‘HaT HAGT gfT, dSWd &ard IS’
g3t & T9 9 B It Quias
A39/ia3t feg® mae ‘Hdr wAer 3 at
g J?
(1) #ar T I=wr
(2) 9g =T &arar
(3) #ar e ufer
(4) a1 T 8%
Uardt fS9 A=g gatvt & d& farest
faat I?
(1) f3= 2) A

3) uw 4 w3

T a3l Fed € I8 fd6 wia, »far
AT FTar IS ?

(1) &

Q) s

3) 99

(4) U=

et IJOEH ft & % fdatt =gt w3
fds a3t & ggar J3t?

(1) 40 =9F M3 556 FfE3 &

(2) 39 =9t M3 456 FfE3t &

(3) 556 =9t W3 39 FE3T e

(4) 31 =9 W3 536 fFzr ot

P.T.O.



[A]

149.

grggyn fiw e gg Si3T fapum Wi
Afaga-Hamls dWSsst ae w3 fam
fis/ama/mfgs 3 Yz der w9
Jfemr?

(1) 1931 €=t g, #hEme 3

(2) 1939 et feg, YIS &o@ F

(3) 1933 etn=t fog, dufger 3

(4) 1936 €<t feg, sda 3

[30]

150.

‘M@ I3t fed I3t Jd&T’ Ha'=d =T of

"ag J7?

(1) fan & Is" HE®, FAST WD
fégat aaaT

(2) THBHSH FAI&T

(3) IBI EaT 3 JEST I
(4) At & weat a® fég f<v
BagT

Level-3/3303



6.

Ul b SR, SR UFh A HUiRd @™ Bl dret /N
dfd wrge 9 ¥ giaar AT g, o fs A e

TR
O @ ® @

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

O R & @
I T A ST Wl Bl MR T & Al 3BT SR Tod
HET ST |

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LIS T @ forg R U AR Reedt 3 9 Sfd fdwen & folg OMR STR 99@ &R &ad Ud gd & & g4 aRE el / Blet

dfcl Wrse 9 9 W TP IR IR 3ifhd P B 9IS S ISl T8l S Fbal B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

el gHARad o {6 59 SR 45d B Aiel 9 WY Td I R BIg 31 e 7 M | 3ngedi =1 el SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

TA—YRATHT /IR U5F H f3Q T HHIG BT el el da F gwdeR aic H fod | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

gl B URIET B/ BeT H YA UF AR UgAM U & SfIRE Bl THR B qreadEd, gfad a1 sxifoiad drTel 3
Ufedf, SR, AaIgd WH, Sdgiid UG AT B 3 UBR B GEEH DI of S IT STANT HRA DI AT 8T © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PRIRT GAdETH BT AU IR UAB QU 1 v AR A€ R SEART BIER [Py 97 angefi uden g 7€ v | Ay
el el 1 A IR EWER A1 W BWER el by A1 g AMI SN fh S99 SR U3d 8] dlerl & AR I8
Tfad | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat grr 9 w19 & o &1 feme
wrrmmélw@m%wﬁwwmmmwmﬁﬁw@ﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U IJDT AR SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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